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Question 1.

Why do different persons have different notions of development?
Which of the following explanations is more important and why?

(a) Because people are different.

(b) Because life situations of persons are different.

Answer:

The correct explanation is ‘Because life situations of persons are
different.’

Developmental goals are different for different categories of people
because of their different aspirations. Aspirations are based on their
needs. At times people may have conflicting developmental goals
also. What may be development for one may not be development for
another. It may even be destructive for the other.

Example, Industrialists may want construction of more dams for more
electricity, but this may lead to displacement of tribals who live in
those areas and thereby disrupt their lives.

Example, The inhabitants of Nandigram in West Bengal are mainly
agriculturists and their aspirations are to see development in the field
of agriculture, whereas to some it may appear that industrial
advancement is more necessary for national development.



Question 2.

What does HDI stand for? Explain the main criteria of measuring HDI
according to UNDP Report of 1990.

Answer:

HDI Stand for Human Development Index.

Main criteria of measuring HDI:

1. HDI published by UNDP compares countries based on the
educational levels of the people, their health status and per
capita income.

2. HDI determines the rank of a country by its overall achievement
in three areas, i.e., life expectancy, educational level and per
capita income.

3. Many improvements have been suggested in calculating HDI
and many new components have been added to Human
Development Report.

4. Pre-fixing Human to Development, it has made it clear that what
is important in development is what is happening to citizens of a
country, i.e., the health and well being of the people is most
important.
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